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1 Magnetic dipole for a circular loop

A circular wire with radius R carries current 7. Assume that
the loop lies in the zy plane.

a) Determine the magnetic dipole moment of the loop.

b) Determine the dipole magnetic vector potential at all K

pointg.
¢) Determine the magnetic dipole field at all points.
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Genroral  cesviphon o mmopo?e and dipole  moments

Considar e Monopele  Moment for a gewal cuwrent
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2 Magnetic dipole moment of a sphere

A solid sphere with radius R has a uniform volume charge density. The sphere rotates with
constant angular velocity w. Determine the magnetic dipole moment of the sphere in terms
of the volume charge density and the total charge.
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